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One who grants to a fetus; he acquires it — 7Ip 92O TN

OVERVIEW

XMWY maintains that if one grants something to a fetus (by delivering it to a third
party and asking him to acquire it on behalf of the 921)', the 72w acquires the
item. MoOIN reconciles this rulings with another ruling of XY regarding granting
something which presently does not exist.

mooIN anticipates a difficulty:
- (a,m 91yt 29910N 13M9% %295 P20 N9N HNINWT 2) DY 9N

Even though that Xy2w himself rules like 25710577 Ja71° ' -
- DY N XYY 927 WITPN DIX PRT PN “9mmnn HnuN s1 nusn vr1pnt

That one who sanctifies his wife’s handiwork; the remainder is unconsecrated,

for no one can be w7pP» something which does not exist. If 5x1w maintains like >"-
1771077 that one cannot be W>7pPn a 2915 X2 ROW 727 -
- (w13, 91 PVINT NP P99 9102 1329BNT 290 Y937 O9IYY XA NIV 9315 19w Y9

So certainly >xmw will agree that you cannot be m1p» to something which does
not exist, which (being 07> X2 Xow 1279 m1pn [like being 73pn to the 12w who is
5"2%]) is much worse (than being 71pn something which is 29197 &2 X9), as the X3
states in the end of the first »95 of w3 noon -
= DYDY NAY 929D 59910 9N ODIYY N2 XDV 937 NIPN DTN MINT 9INM 2299 199N 9INPT
Where WX 27 states, ‘even according to 2" who maintains %2527 mp» 27X,
that is only if he is 73pn this 7"27w27 to someone who exists -

= 99N XD ODIYY N2 XYW 9390 baN
However "1 never said that you can be 71p»n something to a »"2%w<7.” This shows
that a 9"2%w72 1Ip is less effective that being mipn a 9"2%w7; how is it then that SXmw who
maintains (like 1971071 °"7) that "2%w7 73pn R"K, can rule that you can be 73p» to an 12w who is
(seemingly) a 7"2%w7 —

mooIn responds:
= DYIYY N2 92 DPUN ININY DIPN VN

' See mom A" "0,
% See X,01 1Opb.
3 If one is MWK > 7wy w7pn (what she requires for her sustenance) all agree that it is not w7pi1, because she needs
it for her sustenance (since the husband is not feeding her).
* The " refers to the amount she produces that exceeds her needs for sustenance (which belongs to the husband,
anman "7 0"wa w'Y), nevertheless 1971077 " maintains that it is not w7ps, since it is a 27WH X2 K7W 27 (and A"
argues that it is w7p).
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Notwithstanding all this there is no difficulty, for »Xw considered the 221 as a
a»Y» Raw 737,

mooIn offers an alternate solution ([even] if we consider the 721w a 5"2%w7):
= 0YYY XA NDY 929D NIPN DN 29V NY NN HNINY 1) N

Or you may also say that X% maintains it is easier to be "' 25275 73pn -
= OYYY Na XYY 927 Mapnv Nnn

Than to be ;73p% a »""2%w7; not like *wX 21 mentioned previously -
= NI 297 NIYINR NINN (ow 11 oy 1P00)T RNIP PI937 NIND NN

And we can say, that 8>3 in the first P75 of °v°3 noon which stated that 5"25w7>
is worse that a 9"25w27 follows the view of X117 29 and Yxmw argues with him —

mdoIn finds support that we find a dispute in this matter:
= N)D 2991 N2191 1IN0 N>TN2T 119N 29 513989 12

And similarly we find explicitly that s'y»m: 29 logic is the opposite of s'57'' -
- 712 MTNY 9199 PR B9 INAWN *UpT M3 %Y NN XD 294

For 71''1 maintain regarding the sale of fruits of a date palm that once the fruits

were 2919% IR2 no one can retract from the deal (neither the buyer nor the seller) -
- 739 N9 19NWaY 9N NP “921y a0

However regarding being 7137 to an 92, 7"7 maintains that even if he says that
the 72w should acquire it after she gives birth to the 72w, the 72w does not

acquire it (so 7" maintains that 9"25w27> is worse than a 5"2%w27)-
$12 99TNY 9195 BIYY INIWM N VINRD YT MI293) TN3D 19NYWaY 9320 J1Ins a9

And 1'% maintains that if he says that the 72 should acquire it when she gives
birth the 121w is 7339, but by ®»7 n1795 he maintains that even after 2%1p% 182
either can retract the sale (so 1"1 maintains that a "25w7 is worse that "25w275).

SUMMARY
XM (who agrees that 9"25w7 mIpn X"X) can either maintain that an 121 is X2
071w, or that it is easier to be 2"27w7% 71pn than to be 71pn a 2"2%w1T.

> See ‘Thinking it over’ # 1.
6 X,3¢ 2. The case there is where he sold someone the dates that will eventually grow (but do not exist yet).
" However if he retracts before 0915 1w the sale is void, for even if we maintain 5"3%w7 73pn 07X, nevertheless the
1°17 becomes effective only when 225 .
8 x,2mp 2"
? However Y%7 maintains that the 121 is 77 immediately, even if he did not say T>nw2>.
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THINKING IT OVER

1. Seemingly mooIn wants to prove with the 1°%» 191, etc.'® that 1"1 maintains that
o"2%wTH is easier than a 9"25wa7. However one can argue that the reason 1"
maintains that by an 72w that 71p 72nwa% is because an 2w is 07w X2, as MdOIN
stated in the first explanation of Hxmw!"’

2. What are the respective reasons why one would maintain that being fpn
5"25w7Y is easier than to be mIpn a 2"25W7, as opposed to maintaining that it is
easier to be 71pn a 2"25WwT than to be mpn to a "Ab>waT?!?

10°gee footnote # 5.
' See apy> nna.
12 See mo mx 7"0.
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